
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

SINGA SAMPLE QUESTIONS 

Q1 

Q2 

DIVISION MIDDLE (GRADE 3 & 4) – Singateers Round (MCQ) 

DIVISION MIDDLE (GRADE 3 & 4) – Team ABC Round 

Q1 

Q2 

Q3 

  ×    =  16 ,   

48   ÷    =   

Find the value of  . 

1) 12 

2) 6 

3) 3 

4) 4                                                                                                                                                                               (          )                                                

 

 

The figure below is made up of 5 identical squares. The perimeter of the figure is 96cm. What is the area of 

each square?  

 

 

                                                                                                                                                     Answer: _________ cm² 

                 

The arrow shows the direction Mr Sofian is facing. He turns 135° anti-clockwise and then 45° clockwise. In 

which direction is he facing now? (2 marks) 

 

 

                                                                                                                                                     Answer: _________  

                 

N 

DIVISION MIDDLE (GRADE 3 & 4) – Singateers Round (Open-ended) 

DIVISION MIDDLE (GRADE 3 & 4) – Dash Round 

Q1 

There are some birds in three trees. 3 birds flew from the first tree to the second tree. 2 birds flew from the 

second tree to the third tree. After this, there were 5 birds in each tree. How many birds were there in each 

tree at first? (3 marks) 

 

 

                                                                                                                                                     Answer: _________ birds 

                 A tank, a pail and a bottle can hold a total 52 litres of water. The pail can hold 8 litres more water than the 

bottle. The tank can hold 4 times as much water as the pail. How much water can the bottle hold? (5 marks) 

 

 

                                                                                                                                                     Answer: _________ litres 

                 

The cost of 1 storybook and 3 similar pens is $7. The cost of 3 storybooks, 9 pens and 2 files is $25.40. What is 

the cost of a file?  

 

 

                                                                                                                                                     Answer: $_________  

                 


